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1. Fafafea & @ o9 a1 S1ew g & ife & frg
TR & 7§ R 32
Which of the following organization is set up as the
world’s “Atoms for Peace”?

a) AYFALJENURYE  b) SFRIFTY TRATY FHeil

United Nations Security ToIHT (IAEA)

Council International Atomic Energy
Agency (IAEA)

0 SR i AU TST d) HYad Y HGTAH
North Atlantic Treaty
Organization

2. 5 1 R Prafifed & & e wafiE &

Hooke's theory is related to which of the following?

United Nations General
Assembly

a) adald b) U
Fluid Pressure Elasticity
o feanfaeadr d) ST I Tol

Radioactivity None of these

3. 3RTF 3:30 It TP TSt Ft fiFe JS 7d o1 iR 81 3@
9:00 TSI He Bt g3 > fa=m Fam gl
At 3:30 p.m., the minute hand of a clock points towards
East. Towards which direction the hour hand will point
at 9:00 p.m.?

a) RO b) @

South East

) ciéur-ufgH d) 379 9 BIs o1
Southwest none of these

4. 69 faursy HEMt 31 A 72
The numbers divisible by 6 is

i) 5994
ii) 8668
iii) 5986
iv) 8982
a) i b) i, ii 3 i
i, ii and iii
o i d) i3 iv
iandiv

5. 759 UG feaH 2024 TR dRa1 F forw arg A1 UeH |
T~ Afgan 1AF SifirsTs @1 o
Who was the female IAF officer awarded the Vayu Sena
Medal for Gallantry on the 75th Republic Day 2024?

a) TOR AR AL TH, b) RIS SHHER Sifdpar
TR SIYD

Air Marshal Sadhna S. Nair Flying Officer Ankita

Dongsuk
o fdn wuieR fasgaed d) WprgA diex FAfddr
Heghll

NEIEE]

Wing Commander
Vijayalakshmi Ramanan

Squadron Leader Nikita
Malhotra

6. 3Ud & SUAR & foT ¥ yoR $I qarsi &1 Iw
o wmar 32
Which type of medicines are used for treating
indigestion?

a) RIS ((ERRIR®H)  b) GaARID (THeIRTD)
Antibiotic Analgesic
Q) RIS (UCTRIS) d) AMRIYS (EHPP)
Antacid Antiseptic

Find the number of the triangle in the given figure:

a) 8 b) 9

c 10 d) 7

8. frafafea vy &, Jen yer ¥ vs ug Tad 81 Tad ug
J1d o |
In the following question, one term in the number
series is wrong. Find out the wrong term.
3,7, 15,30, 63

a) 30 b) 63

c 15 d 3

9. fufafaa ¥ @ fra fFder 7 We U g 7c: T3
SeIaETHY g foredt 82
Who among the following cricketers has authored the
book 'Straight from the Heart : An Autobiography'?

a) A MawBT b) R Tl
Sunil Gavaskar Sourav Ganguly
¢ Wfed dgamR d) HUdcd
Sachin Tendulkar Kapil Dev

10. d &F 3 AR 3 W @ dR fFrga @ -3
Hex/Ads? & A1Y 36 Hiex/Adbs A 9 HicyAds a@
it §Y oIreht 3 1| PR @Y sifaw 1 a ofiwr B F fpaen
HHY AT §?

A car approaching a school zone slows down from 36
m/s to 9 m/s with constant acceleration -3 m/s?. How
much time is car required to slow down to final

velocity?
a) 113bs b) 9¥dbe
11 seconds 9 seconds
o 8IbS d) 123dbs
8 seconds 12 seconds

11. Fufafaa vy A Re e el # § Ieis e 39
PRI

In the following question find the odd one out from
the given alternative

a) HABT b) <dT
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Forgiveness Mercy
c) &HI d) T
Forgiveness filth

12. A & Fva ¥ 25% P 33 g3 {1 Al Fg wRar s
N & T A IS gearg g1 Tredr g, @ AR &)
F1 @ud A fpait HXd 0 gt
The price of sugar is increased by 25%. If a family
wants to keep its expenses on sugar unaltered, then
the familiy will have to reduce the consumption of

sugar by:
a) 22% b) 20%
c) 25% d) 21%

13. &9 HUet 7 FguTd Tora RRee 9 & ST @
S Rfed Al WEWIH, HRAGPT - a1 32
Which company has launched BharatGPT, a generative
Al platform aimed at creating multilingual virtual
assistants?

a) ST Al b) PRSAIR UEde fafics
Open Al Coreover Private Limited
0 THd Efea fafics d) IR CoHATSSl

Affle (India) Limited Zensar Technologies

14. 3 Iegelt & & [E@re YT 99 F 81 9fe QA avgaii &
AT 3P d1g B gt B dgd 91 I Ja SHAHT
& T NUTE (1/4) § A TeQHH I e 8 e
The gravitational force between the two object is F. If
masses of both objects are 1/4*" of their original
masses without changing distance between them, then
the gravitational force will become.

a) F/4 b) F/8
¢ F/12 d) F/16

15. fAdsr = fou v uy § e y= foar mn & o a1
T YROME 1, 1 3R 11 €| YR TP /T TE 91 el 21
3MUR) HY 3R Faferf@a uromst w® fER $-1 8
3R 79 1 & 6 I 3 yron wy= A FAfga g1
PYF: " TUP! TP YA TN 7 3D 3 a1 &,
a’r;ivgvﬁﬂ-l?ﬁs’raﬁﬁl", B, C B SaIaT &1

YIRUMG:
I. B 1 YT YA TI&T & IR & A9 Uar §

Il. C UM B B a1 8

. Y TG vz udten & g ot W @

Directions: In the question below is given a statement
followed by three assumptions numbered |, II, and IIl.

An assumption is something supposed or taken for
granted. You have to consider the statement and the
following assumptions and decide which of the
assumptions is implicit in the statement.

Statement: "If you want to secure a good rank in Joint
Entrance Examination join Y institution.” B tells C.
Assumption: I. B knows everything about Joint
entrance Examination.

Il. C always listens to B.

lll. Y is a good institution for Joint entrance
examination.

a) orom| FlRa® b) YRom Il fAfRa &

Only assumption | is implicit. Only assumption Il is
implicit.

o urom i ffkag d) 31T YR |1 3T RO 1]

Only assumption Il is e &

implicit. Either assumption Il or Ill is

implicit.

16. TP AR Bl WISHY 22 A YT $1 TH I a1 A1t B
fe IR F T HiePHR TP J9 9911 A1l §, °f TPt
Frear gt
A wire is bent to form a square of side 22 cm. If the
wire is rebent to form a circle, then its radius will be:

a) 224t b) 14 T
22 cm 14 cm
o 119 d)y 79
11 cm 7cm

17. O} IR 7 o= itueT Sw Aft=Rg & #i9 @
Suates giRra a1
What achievement did Prithvi Shekhar achieve in the
Australian Open Deaf Championship?

a) IBF UG RAaESial  b) SH g RadE St

He won the singles title He won the doubles title

¢) 98 Ubdl e # ) 98 gl Raare |
RIEECIRS IufaordT 38
He was the runner-up in the He was the runner-up in the
singles title doubles title
18. €O, 3iftres wra & yarfe fvar wirem @ o g &1 urh
R | T & ST B, 0BT HROT 3-

CO; when passed in excess, in lime water turns
colourless again because of:

) PIeRITH BT ) PieRTH TREEHE
Calcium Carbonate Calcium bicarbonate
SRCIREESINES! d) HIR BEMHC
Calcium Chloride Copper Carbonate

19. & 77E guAT Y UfeT SR YA IugE ey B gAHR

U 7T ¥Y BT I G|

200 TGN & & 90 TR I NG P § STa1P 108 AT
PIBI THG DA g X 46 TN I19 3R HIBT G UG
FXd ¢ fpas afeadl &1 7 o) 9 vHg § ok 7 §
PG

Read the given information and answer the question
asked by choosing the most appropriate option.
Among 200 persons, 90 people like tea while 108
people like coffee and 46 people like both tea and
coffee. How many persons like neither tea nor coffee?

a) 46 b) 44
o 62 d) 48
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20. frufafaa & @ w9 @ R gad 7t @2
Which of the following fractions is the largest?
a) 13/19 b) 25/31
c) 28/31 d) 70/79

21. I U 99 gew! ot anyfd ¥ R Awa-Taw 3
3mwTe Seifrafen & ary R 9 w gwaner ey §
B! 3afy 1 3?2
What is the duration of the deal that Rolls-Royce has
signed with Azad Engineering for the supply of
military aircraft engine components?

a) 5ay b) 7
5 year 7 years

o 109y d) 1299
10 years 12 years

22. 9 T areht dt SRt R A FU T B
T ot faRiwang &1
Long bones with air cavities and lungs with air sacs are
the features of class

a) IHTR b) YR
amphibian Mammals
o Wgu d) uaft
reptile the bird

23. afe 10 3FRA, 1998 H THEAR AT, A 5 T, 1994 B
HWITE BT I AT & U
If 10th August, 1998 was Thursday, what was the day
of the week on 5th August, 1994?

a) HHAR b) HTAR
Tuesday

¢ NMAR d) Aaar

Saturday sunday

24. RARTTTUY T, P vy § Rorad a1 1 3R 2 A HHifFa
& By U M &1 AUP) Ug U AT E P A YT Uy
BT I 31 F fore i € ar 7|
UY: X+Y BT HH T 82
DPY:
1)X-2Y=5
2) X2- 25 = 4XY - 4Y2
The question below consists of a question followed by
two statements labeled as 1 and 2. You have to decide
whether these statements are sufficient to answer the
question.

Question: What is the value of X+Y ?
Statements:
1)X-2Y=5
2) X2 — 25 = 4XY - 4Y?
a) UL IFABYT2UY BT b) T 3MT 1 3R 2H!
IR A & forg yafa § fAreTeR IR I FR
AP 3Fd HU 1 IW THd &
37 % fore vt gt §

If you can get the answer
from 1 and 2 together

If statement 2 alone is
sufficient to answer the
question but statement 1
alone is not sufficient to

answer

¢ T 13R2P d) afe 3fpd YT 1 UY &I
foremex it IR T U IR F fom ol §
PR qHhd o, Mt oft b 3rbdl HYT 2 IR
RF TFHR B A & Rm uafa 7 R
W% If statement 1 alone is

If you cannot get the answer  sufficient to answer the

from 1 and 2 together, still question but statement 2

more data is required alone is not sufficient to
answer

25. fra®r oy § f - afe 315 e AR a@l 3t
T Bl § af Fifd U & 39 e 39 s a1 &
fd SRR g1 we e
Whose statement is that - "If any government director
ignores the elements, then it will surely have to be
liable to the public for this"?

a) U SaTeR a1 9% b) HeTeT et
Pt. Jawaharlal Nehru Mahatma Gandhi
¢) SI & 3R, 3FFdSH d) I Inig TTe

Dr. B. R. Ambedkar Dr. Rajendra Prasad

26. & I (tuberculosis) UfaR&UT & W BcG aRflT
a1 fawRya fasar war
BCG vaccine for tuberculosis immunisation was
developed by .

a) USdS U b) S ATedh 3R 3feac

Edward Jenner qfq
Jonas Salk and Albert Sabin

Q) 3feSc pane SR B d) qs IR
IIQﬁ_'r Louis Pasteur

Albert Calmette and Camille
Guerin

27. RARTTTUY ¥ 8 Y 3R ISP 918 $° fwd fay
T €1 MU feT TR HY9 B II AFAT , HA &1 A 91
Tl ¥ et welta g gl aft el & ufew Sk
fFuffta PR f g T Frepuf & A F9-91/2 Feed
Td a2 B ToRETS B W HYAl BT difbd & F
SRV BT/ 8/8 |
DY:

1. gt $7ra fsument §
I1. ¥} @RI 67 §
ni. g+t |ig e €
foread:

1. Tt T Rsuaent &

1. goft $ra @vImw @

. |t Rsuaedt |ig §

Iv. 9+t | fsuwedt §

In the question below, some statements are given
followed by some conclusions. Taking the given
statements to be true even if they seem to be at
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variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusions logically follows the given statements.
Statements:

I. All Eagle are Lizard.

11. All rabbit are snake.

11l. All snake are Eagle.

Conclusions:

I. All Rabbit are Lizards.

1. All Eagle are Rabbit.

111. All Lizard are Snake.

IV. All Snake are Lizard.

a) Had Y | WU b) Had BN | AR IV
FRATY TERUI B §

Only conclusion | follows Only Conclusion | and IV

follows
c) Had FsHe 1l ARl d) Tt SR FRa §
ST HXA T All follow
Only conclusion Il and 1l
follows

28. T® AR &I 4800 YU H 991 W TH gHIGR B 20%

Bt g1 BNt B1 20% BT AU YT 1 & AT gHFIR
3 It 7= ®! 5 gea wR S g

A Shopkeeper incurs a loss of 20% after selling a
machine for Rs 4800. In order to gain a profit of 20%
at what price should the shopkeeper sell the same

machine?
a) 7500 ¥ b) 7200 ¥Ud
7500 rupees Rs. 7200
¢ 6600 3T d) 6000 3T
Rs. 6600 Rs. 6000

29. AfHTe YT fPa & S fRa e

Maginot line exists between which country?

a) ATfSET 3R S b) JUIY 3R FHIET
Namibia and Angola USA and Canada
o I 3R S d) S iR Uicis

France and Germany Germany and Poland

30. RyeR o @A ¥ WA W WAk W 39 W [Aftfa e
Tt ST T M FH1 ST 72
What is the colour of rust usually formed on silver
when it is kept in open?

a) el b) hTell
Blue Black
o B d) Wi
Green Brown

31. 30 2001 # FTAIR P feTiw! P usar 82
On what dates on April 2001 did Tuesday fall?

a) 3,10,17, 24 b) 4,11,18,25
¢ 2,9 16,23, 30 d) 1,8 15, 22 29

32. 3240 & YUMRAUS] BT TN JTd BT

Find the sum of the factors of 3240

a) 10890 b) 11000
c) 10800 d) 10190
33. WA A fR@ER
‘Jagannath Temple' is situated in ______ state?
a) STy Te b) ISrar
Andhra Pradesh Odisha
o FAle® d) &
Karnataka Kerala

34, fHu sm@aie- foar i wu & ey 9ga as1 e
R g1 A1few?
Who made the observation that there must be very
large empty space within the atom ?

a) SE¥RA b) SR
Einstein Arrhenius
o dsfaw d) TS
chadwick rutherford

35. fAmferfad uy & v ®y9 & a1¢ | 3R 11 ¥ 3ifpa &
forepd few 7T &1 el Y= § & € SRR B I
AT 8 3R SUP YR W a9 $1 ¢ &, g 1w
?wﬁﬁﬁﬁﬁ/ﬁﬁmﬁmmﬁmwﬁw
[

PYA: URAT AFRIGAT & FAR US|, $UST 3R
g Wl ot ofilew SfiH & g wed uufe
STITgPHaTd g

foreed:

. HISH, $UST 3T YT Th TSP Sita- ald
He1 & g wafw g

I1. 39 9 7 9 freft vep & sruma A snet shifaa st ve
Tl

A statement is given below followed by two
conclusions numbered | and Il. You have to assume
everything in the statement to be true, then consider
the two conclusions together and decide which of
them logically follows beyond a reasonable doubt
from the information given in the statement.
Statement: In the Indian mindset, food, clothing and
shelter are still considered to be the most basic
requirements for survival.

Conclusion:

I. Food, clothing and shelter are sufficient to ensure a
respectable life.

Il. Man cannot survive if any of these three is taken

away.
a) HAd TPY | WU b) Had [SHY || ST
FRATR BRATE |

Only conclusion | follows

¢ AdN MR I TR
FRAT R

Neither | nor Il follows

Only conclusion Il follows

d) I%Gh?n?l:ﬁ\?ﬂﬂwaﬂ?f
|

Both | and Il follow
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36. G UTSY A 3R B 3ITHT-3CT UH ¢ P HHT: 20 3T 30
fire ¥ 7ff avE @ WR 934 81 afe Y uisy ue a1y
T M &, 99 &P &) i R ¥ WA § fpa-r qwg
T
Two pipes A and B can independently fill a tank
completely in 20 and 30 minutes respectively. If both
the pipes are opened simultaneously, how much time
will they take to fill the tank completely?

a) 10fAe b) 12 e

10 minutes 12 minutes

o 15fe d) 25 e

15 minutes 25 minutes

37. g faa ad ¥ yRd @Y 6pP i F 1w IMF &1 srgmfaa
LCRCIRE S K

What is the IMF's estimated forecast for India's GDP
growth in the current financial year?

a) 6.0 Ufdzd b) 6.2 Ufd=rd
6.0 percent 6.2 percent
o 63ufded d) 6.7 ufdzrd
6.3 percent 6.7 percent

38. fafafaa & A 5 el =1 (gaar y=w) Fe1 wrar 82

Which of the following is called 'Pearl ash'?
a) NaxCOs b) NaHCOs3
c) K.COs d) CaCOs

39. frafufeaa 9 A fow e d i e R sradt oa
wfafds 3:
Which of the following options has the correct water
image of the picture given below:

a)

Q

40. 125 e F= H9R A, Th SR BT AGTHT BT 45° B
a9 PR, TR | fraft gz &
From 125 m high towers, the angle of depression of a
car is 45°. Then how far the car is from the tower?

a) 125deR b) 60 HieX
125 m 60 m
o 75HWR d) 95 R
75 m 95 m

41. Efger A AderiT URd &1 i@ ©, 59 grT
foreft it o2

"Indica” which is an account of Mauryan India was
authored by

a) FRTST by BRI
megasthenes fahiyan

Q) wA d) T PR T
hiuen tsang none of these

42. Frufaf@d # @ SH-a1 gage e o1 gw 82

Which of the following is a pair of isotones?
a) 7N14, 8016 b) 6C13, 7N14

c) C'2 6C d) 18Ar3°, ,Ca*

43. YAP IYE P qUI Bl 39 PR HUIS DIod [ 39
3ol Treg 71 TS 3R IHS dTg 3H | 30T g YAT:
Arrange these letters of each group to make a
meaningful word and then find the odd one out.

a) GHIET b) VEENS
c) VIDEID d) ORFU

44. 9 3(P) Bt fHat T=IE 6 A fauTST 82

How many three digit numbers are divisible by 6?
a) 196 b) 149
c) 150 d) 151

45. Here Midh i APfar F Iufy fewm & o

Who gave the title 'Father of Nation' to Mahatma

Gandhi?
a) TNUTeT T TG b) GHIY <5 a1
Gopal Krishna Gokhle Subhash Chandra Bose
) AR A1 A5 d) H& HigH Hiedy

Madan Mohan Malvia

46. & A fraw got sriafe wrad wfie 78 82
Which of the following does not involve Total Internal
Reflection?

a) A o gargen b) iSR®T
Mirages in Deserts Kaleidoscope

o TR P! REHege/amE  d) oD BESR H THm

o0l &1 HeRom
Transmission of light rays in
Optical Fibres

47. feu T faweat o A Wl snpfa &1 99+ B

Select the related figure from the given alternatives.

b)

Jawahar Lal Nehru

Diamond Sparkle

a)
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48. frd=n- FufafEa usi § v Uy ok oY= A 3R B -9
faw e &1 3mu Y ag GfEa = @ s faar war fyawor
U & IR 31 & e H1wt @ a1 781 vy vd <A1 wyAl
Y Ug B SW S|
?Waﬂmw%a‘rwﬁsﬁ 12 s § UR &l

?
A. TS Y TS 360 m B |
B. 98 U 420 m T WeHTH $I UR Fl g
Directions:- Each of the question below consist of a
question and two statements A and B given below it.
You have to decide whether the data provided in the
statements are sufficient to answer the question. Read
the questions and both statements and give answer.
What is the speed of the train which crosses a tree in
12 s?
A. The length of the train is 360 m.
B. It crosses a railway platform of length 420 m.

a) PUTAIBAUYBIIT  b) HUA B 3Hbal UY BT IR
& o § % o §

Statement A is alone Statement B is alone
sufficient to answer the sufficient to answer the
question question

¢ T HYTTWAATTITY d) Sl HYT UY BT IR S
?Bﬂvéﬁ$ﬁﬂmﬁlﬁ ¥ fore yafeq 48 &

Both the statements are not
Both the statements sufficient to answer the
independently are sufficient  question

to answer the question

49. f&a gma gure &t Rigr fR* Fe1 5ar 82
Which Mughal Emperor is called ‘Zinda Peer'?

a) Y b) SBHIR
Humayun Jahangir

Q) SfPR d) eI
Akbar Aurangzeb

50. FTRT A ReTeg== &1 AT F RR1e U &t 5 areft
TH1S T Bl 7

What is the unit used for measurement camera image

resolution?
a) HIETEC b) reTEC
Megabyte Terabyte
o cIfued d) AR
Terapixels Megapixels

51. FafafEa & 3 o9 @ srepfa T day @) qufd 22
Udd, WETTR, USR
Which of the following figure represents the correct
relationship?
Mountain, Ocean, Plateau

OO
o) ©O d) O

52. GV 4: 5% FuTd H & 3R I &7 TUHHT 8820
21 QI B3l BT a1 T 37
Two numbers are in the ratio of 4 : 5 and the product
of the two is 8820. What is the sum total of the two
numbers ?
a) 180

c) 198

b) 189
d) 207

53. TG 2024 AR VAR GHI A G@ I A Wil MU U § |
DI AT URAIT SMEYFY 781 32
Which among the five recently added Indian wetlands
is not included in the Ramsar list by January 2024?

a) THIE Y TR Rerd b) Simays ueh WRew Rerd

Magadi Kere Conservation Ankasamudra Bird

Reserve Conservation Reserve
o Yfide gia d) S{ETRM g
Pulicat Lake Aghanashini Estuary

54. fE PAINT &) 74128 3iR EXCEL ®I 93596 & ©U H
Feds BT AT 8 A 3T ACCEPT F! Hd Hedg B
If PAINT is coded as 74128 and EXCEL is coded as
93596, then how would you encode ACCEPT ?

a) 455978 b) 547978

c) 554978 d) 455968

=_1 A2 + L =
55. afg A V65 gt T
A=_1_ 2+ 1=
If v6—/5 than A?
a) 430 b) 22
o 11 d) 37 QB e

None of these

56. Fafafaa # @ 5w 7 &1 IUahT U9 9a &1 Y FA
¥ fore fpar wiraT &2
Which one of the following gases is used for the
purification of drinking water?
a) HTHR SRS b) TR
Sulphur dioxide Chlorine

o WRISRH d) DI SBAFRZS

Fluorine Carbon dioxide

57. 3 WGl T8 SR fSUB YSITfd, SRTITHT TS Bt
Siftrpan Yyy=-de dars «ar 82
What is the maximum snout-vent length of the newly
discovered kangaroo lizard species, Agastyagama
edge?
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a) 333 b) 4.3
3.3cm 43 cm
o 533 ) 639
53cm 6.3 cm

58. UH fAf¥@ % wmwr ®, 'STYLE' &1 '181924114' for@n
STar 81 St B Ut H FIRST F o wrgm?
In a certain code language, 'STYLE' is written as
'181924114'. How would 'FIRST’ be written in the same
code language.

a) 58171820
c) 58171819

b) 69181920
d) 58181920

59. frufafaa & @ $I9 e sAaeii—e SUBI 1 82

Which of the following is not an electronic device?

a) fsA b) HYR
Radio Computer
o colifasH d) S
Television Bulb

60. UM TH Y-RI W 10% Ui 94 SIS I X A 5 I0F &
foTT ATYRUT TSt 900 YUY § A WA YFRIRT WX A
W 2 91 F e TergfS sarsr @ gvm?
If the simple interest on a sum of money for 5 years at
10% per annum is Rs. 900, what is the compound
interest on the same at the same rate and for the 2

years?
a) 378%W b) 300 ¥Ud
Rs. 378 Rs. 300
) 400 ¥Ud ) 410 30
Rs. 400 Rs. 410

. AR TS gl (L&T) B 75 3= & WR et Su wifia
FA 31 uRaeT freh 2

Larsen & Toubro (L&T) has got the project to set up
solar power plant in which country?

a) TShal SRF b) Pad

Saudi Arab Kuwait

) BN d) g 3Rd SR
Queue United Arab Emirates

62. TP T B! 14 ms” I T A SHW B 3R HpT 7T SR
g 10 m SR 11| I=aw fig 9% uge & fag axg grr
fR1e 7T |Wa 1 T BRI
An object was thrown upwards at a speed of 14 ms-
Tand flew 10 m high. Calculate the time taken by the
object to reach the highest point.

a) 163s b) 143s
¢ 153s d) 133s

63. FAd 3R Ao urs &1 dor, ureh | Rarfea g1 o,
AT B 9 8, S A1 1 ufa 21 o, wifea | e
UPR e 82

Sumit and Drona are brothers. Drona is married to
Dhani. Dhani is mother - in - law of Shomit who is
husband of Seema. How is Drona related to Shomit?

a) 9T/ TES b) I$
Brother —in - law Brother
0 TR dy foar
Father —in — law Father

64. 0.135135.... Bl p/q & ¥4 ¥ faf@u|
Write 0.135135.... in the form of p/q.

a) 5/37 b) 17/37
c 19/7 d) 19/111

65. TP 160 g DI fhde 7ig Bl 22 m/s B! A F BHA W)
39 fpa-t fas SHwf gidt 82

How much kinetic energy does a 160 g cricket ball have
when it is thrown at a speed of 22 m/s?

a) 176 b) 1.76J
c) 3872) d) 38.72)

66. feu T fawedl d & Seils 21sg 1 AT

Find the odd word from the given alternatives

a) Ffea b) FART
Kelvin Calorie
o Pedl d) o
Candela Joule
67. foweht Wk - 2024 ¥ FER 2027 o fewh ¥ W
Sl B wféra TR &rar «am 82

What is the targeted installed capacity of solar energy
in Delhi by 2027 as per Delhi Solar Policy 2024?

a) 1500 HETE b) 2500 T¥TETE
1500 MW 2500 MW
¢) 3500 HIETE d) 4500 TATIETE
3500 MW 4500 MW

68. Tfe foll T BT 50% MR MWW HT 25% 7T A
2803, dagTw___ Bl
If the average of a number, 50% of that number and
25% of the same number is 280, then the number is

a) 280 b) 480
) 360 d) TH I IS o 78

None of these

69. 3FIN A e &) faHTfora $3 &1 T SR far U

What was the reason the British gave for dividing

Bengal ?
a) oD T by fo=fta gfaer
Political influence Financial convenience
o IR gy d) JIa&m
Administrative convenience  Security
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70. HUERITRI W SR $Id THY IR 70 & e
T BTTATYT (chronometer) FT TFASHR fora far
yr?

Who invented the marine chronometer for measuring
longitude while sailing on the oceans?

a) SN thafeH b) i gReH
Benjamin Franklin John Harrison
o SnfbEEre d) =i yRepel
Archimedes Blaise Pascal

71. Fafafea jear o 1 w31 & e Suge fawer o1
I PIfoE|
Choose the appropriate option to complete the
following series.
20, 24, 33,58, 107, ?
a) 228 b) 187

c) 207 d) 171

72. TP GHMGR Bd Wil R 594 § HH A BT SR
?%12%wamm%,ﬁmwmuuﬁma

If a shopkeeper cheats up to 12% in buying and selling
fruits, using less weight, then his total profit
percentage is:

A.25.25
B. 27.27
C.25.75
D.25.5
a) B by A
¢ C d) D
73. %9 URdIg psu A Wgad 3R 3R & ADNOC A9 &
1Y 10-99fg LNG 3myfed wHgia 1R gwaner fre

Which Indian PSU signed a 10-year LNG supply
agreement with UAE's ADNOC Gas?

a) ONGC b) BPCL
) GAIL d) lOCL

74. QU A HERE I

Loop of Henle is concerned with

a) Yo b) Ul
Reproduction Digestion
0 IS d) T
Excretion Respiration

75. I & $YF s1 3R S2 & 918 TP vy @ mar &:

S1: 99 P Ha1g SR Frear wan: 5 J4t ok 2 S B
S2: 3a &1 9% Y¥Ig &wd 176 A2 B

TY: S BT AT HT 82

HYF 3R Ul F way # Fufafed 4 4 o= a1 adt 32
Two statements S1 and S2 are given below followed by
a question:

S1: Height and radius of the cylinder is 5 cm and 2 cm
respectively.

S2: The curved surface area of the cylinder is 176 cm?2.

Question: What is the volume of cylinder?
Which one of the following is correct in respect of the
Statement and the questions?

a) S13MS2TGIUUY DT b) ST 3bd UY BT IR
IR G & fore yate gt ¥ for gafe g

gl S1 alone is sufficient to
S1 and S2 together are not  answer the question.
sufficient to answer the

question.

0 STSRS2TANUTB I d) S2 el U8 BT IR o
cr%rw%ﬁ?éﬁ%ﬁﬂ o forg waf g1
gt ©, eifcb] =1 dl S1 S2 alone is sufficient to
ARGl S2 3fchel TH BT answer the question.
IR < o forg T g

Both S1 and S2 together are
sufficient to answer the
question, but neither S1 nor
S2 alone is sufficient to
answer the question.

76. it nifa A, 6 AfgwTO ufafe 8 42 w9 B! & 3R TP

I DI 10 &1 & 1 FRt &1 afS 10 e ufafe 6
e BTH PRl 8, O HTH RT3 8 3 fraq a7 &1 9wy

i

In a certain village, 6 women can work for 8 hr a day

and finish work in 10 days. If 10 women are working

for 6 hr a day, then how many days will they take to

complete the work?
a) 10fes
10 days
o 137
13 days

by 125
12.5 days
d) 8fad

8 days

77. AU P1 10397 INY g A I fPad dafa 82

103" Amendment of the Constitution deals with which

of the following?

a) o fusst ot & forg
27% 3TREf0T

27% reservation for other
backward classes

0 a3 I IR

Goods and services tax

b) 3N ¥ T HHGR T
& forg amRefor

Reservation for Economically
Weaker Section

d) TG H T 3R

Tyt et & fam siRer
Reservation for SC and ST
seats in Lok Sabha

78. frafafaa & A 59 yorR & urgu & 79 yur 78 iar 82

Which among the following type of plant do not have

naked embryo?
a) Q’W
Angiosperm
o SHEImE

Bryophyta

b) eRSprge
Pteridophyta

d) deNwrEer

Thallophyta
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79. fafaf@auyd, WEE?FTaTHTE{ 1 3% 1 3ifPpa at ah commonly known facts. Read all the conclusions and
fau 7w €1 MU ug a9 HIAT ENI P P 1 9F Th then decide which of the given conclusion logically
' 'dd g SR TF "FHAR" e follows the given statements:
DY: Statements:
T PR DI RARE TR U H a1 Tifge? I. Some chairs are pens
?l%:. Il. Some pens are cups.
1. §T1 YUUH WA ¥ e gifeR® § 8k Su &~ I1I. All cups are table.
GGRI P galdTgd B Conclusions:
I1. 18| 98 PR F e 3ma &1 494 71 I. Some tables are chairs.
In the following question, a statement followed by two Il. Some cups are pens.
arguments | and Il. You have to decide which of the I11. All tables are pens
arguments is a ‘strong’ argument and which is a ‘weak’ a) Had Y || SFTTROT b) Fad fsHY | TR
argument. FAT 5 FIAT 5
Statement: Only conclusion Il follow Only conclusion | follow
Should Government levy heavy taxes on cigarettes?
Arguments: o) ﬁﬁtﬁﬁwﬁ&aﬂw d) Had Y (11 SIEROT
I. Yes. smoking is injurious to health and higher taxes T PRATE PRATE|
will discourage buyers. Neither conclusion follow Only conclusion lll follow
1. No. It is a source of income for the government.
2) PaadH I TEAE b) Fad I Il T 83. frd=r: 7g arerE A SrerT-SrerT WEHI § AR SraT- e
, . Hufral gRT 99 Y e ot wEn o guiar gl
Only argument | is strong Only argument Il is strong
" . AT IFET-IT FEAT A TR AT
0 ANTHITRTS 1 USA  d) TP | 3R 1| G 9 § ot 2o 4 e e %
d Both arguments | and Il are 600
Neither argument | nor strong so0
argument Il is strong y
80. < WP @3 & aif & St BT 3R 63 P W €, -
dt W fas WEATSHl & gid Y W1 [1d o | o
Find the number of pairs of natural numbers with the
difference between the squares of two natural & Tl% TR Huf-al &1 e Bast # 99 e s
numbers being equal to 63. @t Gﬁ'\‘l?l' '\‘l@TﬁﬁFﬂ%’
a) 2 b) 1 Direction: The graph shows the number of lipsticks
sold by four different companies in three different
o 5 d) 3
months.
1. et Rrunfow o o Pl
Plants are divided into groups. W February T March N Aprl
600
a) 6 b) 7 500
o 5 d 4 :2: §
9 9 200 \
82. vy & $o Y 3R ITS a1¢ 79 frewd A M E §
Tt f&d T ST B T AT &, HA g1 T J1d qai . N
T Wl gid 81 | |t st ot afew sk fivs faofa tdme  Ponds  lowshebal
FIfoe fF A U frspuf & @ T ey HY=T o1 What is the average number of lipsticks sold by given
difes U8 SERUT HRdl gl four companies together in February?
DY _ a) 700 b) 350
. 3o g A7 &1 ¢ 900 d) 1000
. FBUTHUEI
. 4t A | 84. TP HR fARTHTEGRIT | ToHT L= Bl § 3R 5 Adbs §
IE'W%W 3 72 fft/eer o1 37y R At B | 9% wTa g are
:ﬁ;mﬁnﬁl' T @R fRR 8, PR GRT a9 B TE g8 B 101 B
: . A car starts from rest and acquires a velocity of 72
n. g A 99 g1 al veocy

. . ) km/h in 5 sec. Find the distance travelled by car and
In the following question below are given some

assume the acceleration of the car is uniform?
statements followed by some conclusions based on 5 3
those statements. Taking the given statements to be a) 40 b) 45
true even if they seem to be at variance from 40m 45m
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) 50 HeX d) 55 Hex
50 m 55m

85. D17N, G15P, J12R, M8T, ?
D17N, G15P, J12R, M8T, ?

a) P4v b) V4P
c) P3V d) V3P

86. foU U Tiv® & U k ST HE FId BIfeTC:

Find the value of k for the given expression:
1/3 x 2.1 + (6.5/0.5) - k x 11.5 = -1.52

a) 2 b) -2.5

o 15 d) -15

87. U A L, M, N, 0 3R P T& 3aR Ued g1 St ugad
UgdT & 98 39 N & 3a1 g1 o 9ad sifaw o uer a1,
39 39 L 9 o umi p, $94 ugA aren ugan ar sifaw 7Y

Five friends L, M, N, O and P read a newspaper. The
one who reads first gives it to N. The one who reads
last had taken it from L. P was not the first or last to
read it. There were two readers between M and L. Who
read the newspaper last?

a) L b) O
o M d) N

88. VeRRNMA® fufparei Py winkadti gl

Rate of photochemical reactions depend upon ___
a) died b) ame

pH Pressure
o) SMYPRS B AET d) UHTRI &I digdm

amount of reactance intensity of light

89. A U FT4 FI 12 faAl & % WPHal § wafF B fber 8
f&a1 & ¥ aPar 31 9 3 T& WY SR o § o P
o1 Ui A1 fban fe=1 & W gim?
A can do a piece of work in 12 days while B alone can
do in 8 days. In how many days will the five times of
the work be finished if they work together?

a) 36 b) 18

Q 24 d) 48

90. afg I fa=m, gféror-gd fe=m gt et @, o ufdm f=m
a1 8 Wz

If the north direction will become southeast direction.
then what is the west direction will become?

a) SW-Yd b) féror
Northeast South
0 JW-udy d g
Northwest East

91. T®H oA 3! 91d 30 Hex/Adbs | fphi/der & 37 ot ama
w1 g

The speed of a train is 30 m/s. What will the speed of
the train in km/h?

a) 108 fHi/eer by 210 foHi/Eer
108 km/hr 210 km/hr
o) 150 fpHi/eer d) 300 forei/der
150 km/hr 300 km/hr

92. Wf&TSP BT P IT T g4 P Fafa sar a2

Which part of the brain controls the heart?

a) IR b) HgeN eIt
Spinal Cord Medulla Oblongata
o IR FIRGT @R d) FTH IS TG
Neuron None of these

93. WHTH 10 Hiex IR F! 3R cgaar 8, R ag q gear @
3 8 e g g, v a7 afdmr @1 ok gear @ 3R
5 Hiex ceadr 8, fibe 98 g1¢ gaar 8 iR 12 Hex cgaar
B Ry fig & wed & yury fra ez d &2
Prabhas Jogs 10 m to North, then he turns right and
jogs 8 m, then he turns to South and jogs 5 m, then he
turns right and jogs 12 m. In which direction Prabhas
is with respect to Starting Point?

a) gd b) aféor-gd
East South-East
o ufEH d) IWR-UEH
West North-West

94. UTS 9TE I Rrarep) &1 uferwra gwifar @ oY o8 3erT-3renT
fawal =) uera €1 uE A1 P Sy B R Uy P
Wé"\;ﬂl!:

gl &1 $a W@ = 1650

3R, TG SR Wifaat uem ara Rige! #Y $a T=n
forartt 82

The pie - chart shows percentage - wise distribution of
teachers who teach six different subjects. Study the pie
chart and answer the question:

English

[J Hindi

@ Maths

[ Physics
Chemistry
B Biocloy

Mob. - 7737404085, 8209244090

Page 11




YOUR INSTITUTE NAME WITH LOGO

Q

95.

a)

Q

96.

Q

97.

Q

98.

Total number of teachers = 1650
What is the total number of teachers teaching English,
Maths and Physics?

857 b) 950
975 d) 957
fFrafafea gear 4y fag 7) & WA W) o ard

fapeu &1 99 Fifemw)

Select the option that can replace the question mark
(?) in the following series.

O o _0Ola _© A

Ol | D || ??
Q|00 ©

o0_A 00

) B

o O b)wof_\.

O _0O A@OO

OV A Y

4 100 N $T TP I 50 fHI1 o= &1 T g W
T SATAT @ o ST B T @RUT BT 0T BT |
Calculate the acceleration produced when a force of
100 N is applied to an object of mass 50 kg.

0.2 ms? b) 0.2 ms2

2 ms2 d) 2 ms?

& e 31 T § e ue e gw 31 g e Rt
T 9 OE faweu &1 991 BIfo/ I JGar Bt G113
A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

A2 1,PY

F b) G
D d) E

fou T fawen # |, 9dIy IW &1 A Fifow o
I WY Y ST Ul SIS A B

UTT : O 2 JTaR : ?

From the given alternatives, select the best answer
which has the same relationship as in the 1st pair.
Dice : Cube :: Chessboard : ?

a) ST b) e

Rectangle Circular

o aif d) Gy

Square Pentagon

99. I ATHIA BT 994 PIOT ot 37 F A 3|
(1) 2 (3) (4)

a)
Q)

Choose the figure which is different from the rest.

ClelA

1

(1) 2 (3) (4)
1 b) 2
3 d) 4

100. o= FafafEa TFeR &1 aryds seq g

IR vell & IWR AT

T ARAr Bt SR SR A Y, U YU Hgal 3, SHb
Shdld UTS BT T, At Uail &1 HTE 81 98 AfeT 39 7o
¥ {5 yoR Hafi 82

Directions: Study the following Questions carefully
and give answer accordingly:

Pointing to a lady, a man said, “The son of her only
Brother is the brother of my wife.” How is the lady
related to that man?

a) @ gd b) GIdl
Mother's Sister Grandmother
¢ TR DT d) 99

Sister of father-in-law

Mother-in-law
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